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[ CASSETTE TAPE/PHONE ORDER]

1.You will need the cassette tape, the guest check, and the franslation wheel in
order to do this puzzle.

2.If you are having trouble knowing where to start, make sure to look at both sides
of the cassette tape.

3.0nce you have the correct diner slang on the correct letters, use the wheel to
translate the audio from the cassette.



[ JUKEBOX ]

1.You will need to read the notes on the Guest Check and the suspect interviews to
do this puzzle.

2.Burt Stancil mentions the total amount of time you need for all four songs.
Lindsay Rogers mentions one of the songs you need. So now you just need fo
find three more.

3.You are looking for four songs whose total time equals 10 minutes and 30
seconds. You can subtract 3:20 from the time since you know one of the songs.
This means you need three songs whose total time equals 7 minutes and 10
seconds. Remember that 60 seconds equals 1 minute.



[ KIDS MENU ]

1.Use the back side of the business card with the back of the kid’s menu.

2. Use the pairs of letters (the ones in parentheses) to get a new letter. Each pair
will get you one letter.

3.For example, line up the card so that the 1is by W and the 2 is by H. The arrow on
the card should point fo the letter you need, in this case, the letter F. Do this for
all the pairs. You will end up with two words
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